NRETT
250X 40=10000
73X 20=1460
500X 80=40000
2400-20= 12@”’?
840+ ﬁgtl@
600 505/1
360+54o;9@0
280—150=130
430—230=200
600—160=440

INAET)
6400+-40=160
600+4=150
1000+25=10
380+20=19

980—+-14=70
N

(A

3600330

w8102 *\)}a*\‘
WOQWﬂB
89@6‘ 50—160
1800--200=9

MNREFTI
45+55=100
650+13=50
106 X5=530
3000-60=50
2100-30=70
29X 200=5800

ﬁ\@‘g

ot
180><400:72000@’8( ya
; +
=

240X3=720 2/

kg .
600X 130=78060*

5400-+-6=900

MNRETI
8000=+50=160

S R

BiEBR
20X19=380
0X46=0
40X60=2400
300--50=6
840+4=210
400—60=340
80 X50=4000
200X35=7000
60-+680="740
720--30=24

S R

BEBR
330X3=990
26X200=5200
320X40=12800
5X250=1250
400X 15= 6000

1904; S
2005 y QQW
ISOXSQ\@QOOO
38X200="7600

S R

BEER
220X4=2880
70X80=5600
400X16=6400
240X30=7200
16 X600=9600
« 500X13=6500
400X8=3200
50X40=2000
120X40=4800
25X400=10000

S Ry
BEBF
5600+ 40=140

2\

160X 6= 9@0 a/’; o
3

\\\ 56 O?ﬁﬁgéo

B
16X 60=960
36X 30=1080
45X 70=3150
300+5=

ge?
180“—60 3
'810 630=180
6504350=1000
420X 5=2100

24 X300="7200
350X2=700
660-+-20=33
770+-7=110
65X20=1300
870—450=420
890—360=530
420X30=12600

14X 200=2800% /\@

BHOE
67—27=40
5500+50=110
2600—1800=800
110 X60=6600
25X100=2500
1000+40=25
780-+-30=26
240+730= 970

45 3&; é
e*\

280X 40=¥120,
-— %\)*\5

O
Q: \)*

'J

,L\
-
Q
Y BHa
600X12="7200

2\ "I



<

N

1800--200=9
720=60=12
8700=-30=290
5600=+40=140
850+50=17

700+14=50 4\@

INRHET]
47X2=94
48 X2=96
40X5=200
67+43=110
680+20=34
1000—300=700
480+80=6
900+5=180
369-+141=510

=430
653—(3204-2700-+30)
=243

25X (18X5) X3
=6750

(218+42) X (65—35)
=7800

INKET]
25X 50X 4 a @
=5000
720148
=15
45-+45X99
=4500
56016

2 N

7500+250=30
1600 X4=6400

80+16=5
3200 X 2=6400
3200-+-40=80

4500 X3=13500
200X30=6000
840—650=190
560+130=690

S R

BEER
930—570=360
8100-+270=30
240X40=9600
760+-19=40
3400—900=2500
306+3=102
32X3=96
7X12=84

120+20=6 {\@

9600--40-+500X 3

900-+-30=30
9000-+-30=300
400X16=6400
9200—5600=3600
2000+50=40
2400-+40=60

BEFEAME
310X20=6200
80X90=7200
180X50=9000
18X50=900
960-+16=60
4300—2900=1400
7200--80=90
3200—1400=1800
4500-+90=50
170X40=6800

=1740 ?@
630+ 126 (960160 T -
=30 !
[230— (47+53)]X 20
=2600
500+ [ (327+123)+9]
=10
S0 RUIH
BEBR BFAHE
658—125—235 65X 31+31X35
=298 >
1625 125 A
=50000
42102
—4284
44 101—44 271+ (45+129)+155

N



NRET
88—32=56

690-+-30=23
% «1&“

27o><30:819§”
32X2
320+ Q;
5X25=12
61X2=122
17X5=85
48+12=4
53X5X0=0

INKET]
620—300=320
600--20=230
3600+-400=9

300X 12 3600 @

8000\?:

X\
13X 500=6500
14 X50=700

MNREFTT
500X 7=3500
800+ 10=80
4000+-80=50
64+-16=1
800+ 400=2 N ‘\®
8§X40=320
8oo><4:3206>
600+-6=100
600+60=10
560+70=8

=4400

S R

BEBE
70+-5=14
30X24=720
101+99=200
20X48=960
70+500=>570
120X0=0
30X120=3600
91+13=7
800+50=16
24X2+2=50

A R

BEERR
25X 20=500
300X 17=5100
560--80=7
12X100=1200
170+530ﬂ(% q
124700
8o>(

60X 70 4200
300+700=1000

S R=

BEBE
540--9=60
960-+24=40
96+24=4
510+17=30
0-+-170=0
290+460="750
540—90=450
440-+11=40
600-+-12=50
60+12=5

=600

BFOE
80X 60=4800
8X110=880

400 X12=4800
120X6=720
24+0X86=24

BFAME
60<100=6000
30 200=6000
9600+ 12=800
240+80=3
7200—900=6300
7200+900=8
1500+300=15
45+3=15 4’\@

15 X3=45% "

1500%34

BIFOE
460-+23=20
230>X40=9200
5000 X 4=20000
220X6=1320
750=+15=50
540--27=20
420=70=6
550+ 5,;110/\




NREFTT
(640)+4=160
(540)+90=6
(770)+7=110
(78)+3=26 o %
(72)+36=2 ?,
(15>><4i@
(15) X §=120°
(64)<32=2
(480) +40=520
(52)+4=13

MRAT]
132+ (6)=22
240+ (6) =40
25X(8)=200
29X (3)=87
1800 (90)=20

100X (= 2@\@
96(@_*;_\( <<\
gaw‘

O>< (3)—840
(5)717

INKET]
(46+84) X 15
=1950
(357—117)+12
=20
64-+96-8X2
=388
[80+ (86— 36)]&15\\

=1950 e @

.:x\“
INAAT]
315+45=7
9000+50=180
25X 14X 4=1400
125X 26 X 8=26000

4 —

’I

28

\ ¢

\*

a"\@

2

58 R

BEBE
(1200) X 5=6000
(80)+340=420
(70) X13=910
(22) X10=220
(60) X12=720
(2) X260=520
(20) X29=580
(300)—120=180
(8400)=70=120
(6400)+40=160

$5 M B

BiEBR
560+ (4) =140
880+ (80)=11
22X (5)=110
34X(20)=680
14X(30) =420

670+ (220) =890 /\@

18><(2)<73\6,8,9’ <3

295X 453 woF

550 ﬁZO)i\ISO

16(H L 64
BE BN
BEERR

520—710+2

—165

(179—62)+9

=13

37874304 +4

=130

[117+(94—55)]X6

=18

)R RN

BEBR
8600--50=172
6900--20=345
432+165+168=765
634—476—124=34

(A

BFaE
(140)+230=370
(990) —580=410
(600) X 13=7800

(60)+68 40
\\686 %3030
—~350=210

") @(68@%060—120

(040)—230 310
(880)+22=40
(30) X 25=1750

oy

76+(4)=19

90X (12)=1080
660+ (3)=220
41X (200)=8200
28X (3)=284

14X (7)=98
200X (50)=10000
68+ (4)=17
94--(2)=47

98+ (D)= Ly % aﬁ\$io
’t, @ ’mo‘g

E#f)ﬁ
24 X 15+162
=522
37+46 X101
=4683

\\\

\B
':ssé@ @*
&040—‘%0 13
11731481 X 53—

‘\‘

(A

6200

25X (34+38)=1800

\f \;‘I



S0 R

INRE T BEER BHAE
18X5=90 27+3=9 72-+24=3
18X50=900 270-+30=9 9600~ 40=240
18X500=9000 @ 27000--3=9000 16X6=96

2% ~,
15X6=90 q/\ 26X3=78 16X60=
15><6g:359<3 26X30="780 " \\\I%Oé(f
15 660290 2600 X 3=7800 :

e/

) O,

1
2 6400+8=800

1500 X 6=9000 260X 30="7800

4000+20=200 300X 2=600 .
10+2=20 300X 20=6000 13X2=26
400+2=200 3000 20=60000 1300 X 20=26000
Ho R
INKEET] BERR BHFOE
18+4=12 4000+50=80 360+-90=14
4800+40=120 33X 300=9900 56+-14—4
180+40=12 600+150—4 470—380=90
18X 2=36 13X500=6500 140X 30=4200
1800 X 2=3600 72+36=2 @ 900+6=150
750+50=15% D 9000-60=150
300, 18+3=16
o 3 4800+30=160
120%-70=6 960 8120 480+3=160 o /’\
810-90=9 640+80=8 24X 300=720 :

B0 RN
MEST] BiEBR K
(910)+130=7 (150) X6=900 (50) X19=950
(860)+43=20 (50) X150="7500 (9100) +13=700
(230) X3=690 (960)+32=30 (1700) X5=28500
(840)-+28=30 (570)+3=190 (860)+43=20
(1800) X' 5=9000 @ (40) X17=680 (900) +45=20

@80 +17=40 % pF))
(40) X 16=640

(760)+40=19 (88) —23=65
(840)+28=30 (300) —80=220

(440)—80=36 . (930)+30=960 (20)+53=73

(33)+32=65 " (140) +53=193 (soo)gﬁlo;g\@‘
i e e

(340)+300=640 (400)—170=230 (220) \s

N



NRETT
3200+-40=280
5600+-40=140
24X 300=7200
8607370249@”’?
100X 197
430+369#
300X 19= 5700
8800.440 20
570+270=840
7000--500=14

INAET)
900+15=60
4800-+12=1400
660+33=20
5600-+-4=1400
14X 700=9800

520—34% /\ “

,\43 O@v
4&&%60

43@6 5=64

2X9+6=3

MNREFTI
45X101—45
=4500
74X 8X125
=74000
69X 44+31X 44

2%
=4400 >z

145><357454§§?@‘8, e
‘\O

=3500 O
™ Q
\\‘\'A

MNRET
180 X 126=22680
570X 40=22800
483+23=21

6 R

S Ry

BiEBR
6300-+300=21
400X12=4800
310—180=130
180+190=370
680+40=17
4X150=600
0-+422=0
380+2=190
305-+5=61
204-—4=51

S BB

BEBR
8000--50=160
9000--45=200
640--40=16
130X7=910
6 160=960

9100+ 7014% a//;\

600,5127 .
960~ e
344 30755 10

18— 56=7=10
S0 RIS
BEEE

56 9-+9x 44

=900

63X 8119 63
—6300

16401

=6416

67X99+67
=6700

S I

BEER
719X18=12942
309X56=17304
870+60=14-+-+-+ 30

HIFaM
309-+3=103
608--2=304
5>X480=2400
260X 3=7

s 850 $5@@

3,4; 200
&00“—4 200

"74 2=37

47—28=19
94—58=36

80+240=320
190+560=750
650—260=390
430+170=600
290 X300=87000
4600--23=200
950+19=50
30X270=28100

24=8X90=270% /\@

25X 4+ Z:é?séga‘

+
Q¥

48X 99448
=4800
57X101—57
=5700
32X25
=800
48X125
=6000

/\®

\\\ 4
> ﬁé’u@*

‘9352<58—13630
850 % 80=68000
1632--8=204

2\ “I



NREFT]
120+500=620
120+5=24
120X 50=6000
660+ 6—110 N %

600+ 50‘;—#/1
890—5= 886
120-+-40=3
600+120=5
14 X6=284

NRETT
340X 3=1020
980-+14=170
980—140=840
250+460="710

430+280="710 @

40X 2405,
2 24

’gS 3?

qsv‘
4,9.@+250 740
490—250=240

MNREFTI
145—76=69
24X 40=960
630+260=890
6300-210=30
150X 4=600

28
510+490— @ a:ox

270+3=90 N

270X 30= 8]%: @‘8,

92+2=146
3204-36=356 _w\;yf‘*'
720+360=2

MNRETI
90X 20=1800

A

<

29

L\

LYY

BiEBR
3200-+80=40
8500-+5=1700
140X 60=_8400
360+600=960
840+6=140
840—60="780
490—380=110
4800-+80=60
750+30=25
400+66=466

)1 ) Y

BEBR
70+35=2
700--35=20
700--350=2
7800--60=130
4800+24=200

18020= gﬁoo @/\

562 ‘& 2
562 4% S
560—5—42@“980

560—420=140

E LY Y R

BEER
29+49=78
49—29=20
490+290="780
490—290=200
28X4=112
150X 6=900
260X30="7800
800-+16=50
480-+2=240
510+2=255

SV I

BEER
460—270=190

B
750-+25=30
750+250=3
6300-70=90
1500+5=

- \\;\é%’o ?ﬁ&ooo
- @?&@l 800

P 4

W

)

520 "13=40

'5200 130=40

140X4=560
480X 20=9600

90+45=2
800+16=50
800+160=5
47X2=84

470 X2=840

470 X20=8400
46+27=173
46—27=19
460— 270—190w

460+270 39?730 a’
e

{@ﬁ
e
290—136=154
410—60=350
580+360=940
580—360=220
35X2=170
350X 2=700
3500 X 2=7000
72-+-24=3

720~ 24; 304@
g
e&g To®

<E¢ﬂﬁ
750-—15=50

@

\0 \;‘I



260+13=20 700+250=950 30X 80=2400
1600--40=140 17X 500=8500 750+30=25
121+11=11 510+-30=17 13X 700=9100
830—580=250 740--37=20 990+99=10
400-4300=700 30X 180="5400 850+50=17
810+27=30 @ 90+380=470 2800--70=40
PR ZIWEA _
9001850, _ 790—540=250
250+3§; 20X 260=5200
290+440=7 680+40=17
o
N FE R
NRET BEBR BHLAME
280—140=140 780--3=260 120X 80=9600
52-13=4 78+26=3 6400-16=400
270+17=287 92--23—4 560<-4=140
3200-16=200 91+7=13 560+-28=20
700-2=350 72+18—4 9600<-60=160
700--35=20 22X 60=1320 840-28=30
800X 5=4000 900--45=20 5700-+-300=19
800-16="50 9000-50=180 57+19=3
4500-+15=300 65—48=17 9400-200=47
73+49=122% q‘;\ o 910+ 47=20
* A%
&
S T
: BHam
(100--80) <+ (100—80)
—425 —9
4200+60—24X 2 524— (320360<60) "
=22 =198
120X (33+544-+32) [200—(38+65)]X 24
—6000 —2328
32X [210+(98—91)] 6001546005
=960 =160
\ s A® wmwE R
% N7 730
< . <X>\ q L
+ N ET] ‘ *8, *\)gr EETan
125><(11><8®@.\¢v“ 450X 274450 % 23
=Y a
— 44000 o —22500 % <I\®

W 8
36X [744= (87—81)] [260— (340—260) 348

=4464 =1440 2
180X (63+544-+-32) 24 X [[(960—320)=
R\
K\

=14400 =960

N



o

2 A

[593+(134-+243)]+97
=10

NRET]
5600+400= 14
o\

zsoxzks
45436 #4@

220X 60=13200
900X 50=45000
60X160=9600
950+50=19
200X 26=5200

INAHT)
74—58=16
390+490=2880
47oo+53o 523(@

97— \sg oo

X\
3300+480=3780
4800-+-240=20
240-+-60=4

NRETT
9800—800=9000
200+5000=5200

3000+600=23600
8

5400—400=5000 . %
&\
6000+200=30
1200 60=1720
3000+100=30"7%
3000—300=2700
300X 300=90000
4800-800=6

316—(140+480-+4)

=56

S R

BEBE
4200-+14=300
940-+47=20
760+-40=19
560+20=28
500X 14=7000
6800+40=170
480-+16=30
900-+45=20
780-+26=230
500X 15=7500

SO RN

BEBE
94—55=39
300+50=6
95—65=30
89—56=33 % /\@
10 ‘

63— 26 37
15+48=63
0-+-453=0

Sh R

BEBE
8800-+800=11
1000+4000=5000
2000-+3000="5000
4000-+-400=10
4000+2000=6000
8300—300=8000
60+90=150
80+130=210
130X50=6500
1300—500=800

\\‘%?ﬁx.
7 @ om? 17=8500

‘3600 800=2800

BFOE
5700+30=190
380X 20 =890

=6

680+40=17
320X300=96000
840-+28=30
760+19=40

BFaME
14X 200=8800
3400+380=3780
56—42=14
72—21=51
98—78=20
500< 40=20000
T4—35=39 % 4’\@

25+ 44=69

BFaE
6400+1400=16
130—30=100
6500+500=13
8500—500=8000
8500-+500=9000
9500+500=10000

240><4,9796%'\
700 V500285




SHE R

\0 \;‘I

NRHETI BEER BHAE
3000 X 7=21000 6600-100=66 680+260=940
30X 200=6000 780—490=290 450X 200=90000
4500--90=50 X 340+280=620 6400-+320=20
5000+100=9 P 3200+ 80=40 6000300
900-+130=| ?«%oe*\‘ 14 600=8400 \\2%0¢$o<<
80082400 91—63=28 - @oAaxd 20
3200+ 20Q¥16 50X 160=8000 2J) Frs00=1800
330+170=500 160X 60=9600 > Lax200=2800
3600-+400=9 3500--500=7  430X20=8600
8100+90=90 4200+60=70 1800 5=9000

ShM RN

NEHTI BERRE BFAE
3200— (1600)=1600 72— (34)=38 260+ (90) =350
7700+ (70) =110 840+ (60) =14 690 (23)=30
57— (29)=28 9600+ (800) =12 660— (220) =440
8600+ (430)=20 7200+ (60)=120 560+ (8)=70
2800*(200)—1@ 23X (400)=9200 250+ (50)=300
65003 s T« 31X (300 160X (6)=960

,sto @ 1@(5 200433 & 540+ (6)=90

’wo 33%30 24o><u> qa” 340+ (260) =600

F0%(30)=19 850 (150 100X (3)=1200% @

900+ (100)=9 430—(280)=150 5oo><<15>@7 %’a‘
Sh RIS { N

TS BRER B
4765-+487=5252 178X 49=8722 76 208=15808
6795--45=151 37X 634=23458 808X 77=62216
5001—396=4605 3920+ 80=49 9000+120=75

@ ShE RHA

NEET qﬁ\\.@ BHM
6704300+ 12_;@‘8, s 301X 56—56
=695 =16800
39946309 (218469 X (187 —46) 3 g\@(
=18753 =10467 g’a
25X 16+1290+43 3338+ 33 () @
=430 =3300 <
780=[(157+311)+36] (26X (138126579 52
=60 =200

10 —



CVAVL It

BEBRR
1.,2_3
077010
7.2 9
1010710
2 1
3 3!
2 .6 _8
ERECS
2 1. 3
R
1,2 3
66
BN R
NREFTT BERFE
30X 330=9900 50X 18=900
240X 2=480 36X 200="7200
4900 2=9800 150X 3=450
200X 15=3000 460-+-20=23
47><2\\og;:94ag\ 150><50:7\\5%) 2\
5001 3 890X 020" o T =
< <
e 30035 S\
0% 160%8=
200 % 2=580 16
39X 20=780 70X 130=9100
S R
INKET] BEBR
400X 7=2800 600 5=3000
720--90=8 760—480=280
640--8=80 6000-+20=300
750+50=15 280+230=510
320-4=80 % 4\@ 630—140=490

<% 350—80=270
4600+2=2300

770+11=70 5%

8200+200ﬁ
J
140X 200=28000 300X 16=4800

50+460=5 42X200=8400
700—270=430 56+14=4

BEHOKE
18X400="7200
80X 120=9600
200X 29=5800
250X 20=5000
1300+5=260
180+30=6
20X 46=920
650-+13=50
190X 4 =760

®

120 X20="§
)

13X 500=6500
120 X 400=4800
270—90=180

70X 140=9800
520—400=120
370 280=650
200X 36=7200
240X 30="7200
4% 250% 19807

N



NREFT]

640~ (40)=16

100X (9)=3600

980+ (7) =140

200+ (8) =250 7 aﬁ\@iv
. ® +°

750+ G0 % S

34o+(2m gm“

1200 (G320

140X (40) =5600

790— (350) =440

720+ (60)=12

NEHTI
420X 20=28400
60x+202=80x
460-+280="740
32x—25x="Tx
58x—47x=11 r

1500\3%# 7
$\
. g{o

'&k 21&“300

2\1@(\)‘ “1600=500
xtax=2x

MNREFTI
8640+27=320
4872—563=14309
629894 =67

MEET o T

(613+287)>&§f8 ; et

=8100 O A0
> a
19X 23—1980 18"
=327
(2160-24+150) X 42
=10080
8400-[12X (568—518)
=14

12 —

SN Ry

BERR HIFaM
460+ (490) =950 650+ (50)=13
500X (9)=4500 1800+ (30)=60

960+ (40) =24 780+ (220) = 1000
120X (80)=9600 980—(70)@4
90 (90) =8100 N ) =000
390 (3)=130 \1& X?Qrﬁzmoo
700X (8) =5600 "2) 540“—(310)*230
420+ (30)=14 :c\““\"SGO—(Sfi)flO
380 (20) =7600 640+ (360)=1000
840+ (7)=120 1504 (190) =340
S R
BEBR BHFOE

180X 40="7200 467+233=700
530+240="770 6400-+16=400
4200+70=60 0-+-650=0

8500—3000=5500 31X300=9300

1200 X 40=148000 @ 80X 50=4000
1254-55— 186 a//\ 8800+44=200
390@0* % 5200+130=40
1300>g«o 2000° 360X 20=7200 @
78+14g;@220 155+635= 790 /,\
1400—800=600 5701930
. R - v‘ﬁ
HAE RN ) 5
vt
BERE BEUH
179X 21=3759 808 35=28280
1350+ 75=18 6219-+481=6700
3588+ 78=146 1500 X 47="70500
EOVAYL I
BIFAE

1260— (268—158) X 11

=50

45X [868+ (82— 75)] & /\@

=5580

289—(3ox14%o@§

‘ ‘.
[680—(247+123>j 42
=13020

2\ “I



INKEFTI
65-+47=112
31X 300=9300

260—130=1
60—130 30» 4\@

320X 3= 960\\ a,l

910+ % 5
860 43920 1“
360—12t30‘
1400 X3=4200
403X 2=806
70X 80="5600

NRETT
900-+3—100=200
800+40+21=41
90+-260+13=110
100—1000+50=80

40+300+6=90?
90— 10605 ) “

140 «u%é
Tﬁoégje—% =180

72@#&9 60=20
650<5-+90=220

NREFT]
5000 ZFt+=(5) T
10000 ZF+= (10T
9 7= (9000) Z T}
4 FF=(4000) Z T}

2 K= (2000) 2%
XY

600 24 = (60) JH k..
1000 K= (4> DA *X q :
sufgf(:sooo):w
50000 7= (50}%@%
500 /3= (5)71

C R Y

BEBR B
520—230=290 70X 110=7700
780+26=30 79-+21=100
400X 8=3200 750+15=50
7200-+36=200 24><3oo— 0
300X 33=9900 \\?fo%ﬂ) 267600
280+300=580 @@um@moo
80 60=1800 J 60&6?50 9000
600X 4=2400 P 660 5033000
420-60=7 ' 0X890=0
16 60=960 600+40=15
S R

BEER BFAME

(640—200) X2=880
30X30-+100=1000
400—600-+-6=300
260—450-+-9=210

230—170+140=200
240—120-+-6=220
60+360--9=100
400-+20X8=160

210—630+7=120 @ 720+8+10=9

- o Baa TN _
400—300-36 a%, 25 50+ (89+11)=150
14 —6%) + 65+5+50="6
(149 T +50=63

(296&5@% 12160
120--2540=100
280-+4-F70=140

680<40+100=117
(200+120) + 8014
5><18><2a§>1§\o?’a’,
; e
Sl R 2 )

20 by
BH4IM =

3 JF=(3000) Z T}

8 FF= (8000) % Ft

10 76=(100)ff

5 T 5= (5000) 73,

30 2k =(30000) %%

400 JHK = (40) 43K

90 432k = (9000) 2K

60000 T~ 55, = (60) i

700 43K = (70)%

50 43k = (500) ke

\1




NREFT]
24X 50=1200
320—180=140
104X 4=416

12><8:96 \\\
6600-66— @ a:
1450+ 905‘5 ™
16><400t6¥ﬁ50
110X 60=6600

40X22=880
850+17=50

MEHT]
1500+50=30
190+70=7
700+30=730
140+40=11
32X 50=1600
14X 40B=, /\@
2 99*\
‘y 3#@0
9@¥’78 22
2600—800=1800

MNREFTI
365—273=92
607 X 56=33992
260X 24=6240

MRAT) 3 N 2!
(33 20) + (33 @%o*“

=8 ) &
- 1

150+ 240+ (20%6)]

=75

15X (40—6)

=510

[720-+ (46+44)] X80
=640

14 —

DA

/\@

R i |t

BiEBR
850X 3=2550
37+62=99
480-+24=20
240-+30=8
180X 40="7200
23+90=113
165+235=400
500—480=20
215+185=400
3500--50=70

SseM BB

BEBR
2400--30=80
150X 60=9000
70+5=14
3X280=2840

122+78=200 @

465— 30514%9/77,‘,10
83 =d9= % , )
660 M Qm“

67— 58—«9‘
140X 7=980

gL RN

BEBR
136 X27=23672
2432--38="64
5040-70=72

S NI

BN

B
0-356=0
8100+90=90
340X 20=6800

7800+ 60?0
oo Y

ogt*moo

J @&00“—5 160

\ﬂ

990 90=11
760—380=1380
27X300=28100

3600-+-3=1200
5600+40=140
240-+-60=4
960-+24=40
120X80=9600
40 X14=560
760+20=38
7400--37=200

900+45=20 % /,\@
740+ 37=80
R

,‘ L
BEONE
731+369=1100
6800-+-80=85
2788-32=87«++e:+ 4

210+ (45—6X7)

=70

37X162—37X62 %
\\\

=3700

101 X56—56 r

=5600

480+ [(601—598)&40]

=4

N



INAHT)
2700-90=30
600+50=12
1200+60=20

\,\
210+230= @
75— 46)9
0+43= o\ﬁ\v“
240X 5=1200
125X 8=1000
580--5=116

2 Z
850+7=50, i /I\
\2

INAET)
5000-+50=100
3600-+12=300
460+23=20
340X 3=1020

850+17=50 /\@

260*:37’0 &

®
206 oov

380 44z«“20
780%-26=30
960+32=30

MNREFTI
120+130—70=180
230—(70+50)=110
(150+130)—180=100
140— (80+40) =20
64080 30=240

640+16X3=120 %

320 (40X R I @%w‘\ .

40+-80—605°60"
1804 (140— 8055210
360+ (140—80) =6

INKEFTI
3 Jk=(3000) Z T}

\

<,\’*

BNE R

BiEBR
127—68=59
7600-+-76=100
300X22=6600
180X 60=10800
420—360=60
1600+40=40
4800-+-16=300
167+233=400
262+123=385
160 X50=_8000

SN R

BEBR
720--36=20
760--38=20
940-+-20=47
430+280="710
86—47=39

900-+45=20"" qf/\©<

+°

zgokm%@ 5
25X 1900 &1@60
120530081000
310X 20=6200

CLYANE IS U

BEBR
380—(240+130)=10
480+ (110+130) =2
460—240—130=90
720+280—450=550
120—70+150=200

. 250—150+70=170

250—150—70=30
(55+7)—21=41
30X40—600=600
90X (50—30)=1800

SN Ry

—~
2/
E 4

BHFAME
100X 67=6700
0X571=0
4200-+21=200
780+ 26=
\\ééo @80 0

x7\;<77o
,zm 12=200

“'135+265 400

630+27=657
164—53=111

360<30=10800
1500 X 8=12000
780—670=110
145+43=188
147+7=21
606-+6=101
128+4=32
12X5=210
960+12=80 %
400 12=4800 a‘

80+5-+40=>56
606X 30=300
20X 5X 40=4000
96+8+60=72
40050 X 60=480
60X 12—160=560
90+ (40—30)=100
90— (40—30) =
9044@;30%\&
9@9&%% ~5860
5%

oY
X\

20 J6=(2000) 4%

@

\0 \;‘I



4000 ZF+= (D F+

60 2K = (60000) 2k

30000 T~ 3= (30) Ml

500 43K = (50) %

1000 %Zﬁév\ik:(lo)ﬂlzﬁﬁk
30 %ﬁﬁﬁé—(soooﬁ

5 T-75=(5000) 7%,

30 43K = (3000) 2K

300 JHK=(30) 432k

300 2K = (30) JH K
7K = (T00) P74k
400 -5 JHK = (O F-J7 40K

2 = (20000 % 24 17 < 70000 T-55= (70) I
# ﬁ«“a\.& (f % a;f\@
2 R TP s T g
‘ Ch o
78 ) 5 MK o
2 k=155 s sk ok
VAR R
INEHT] BEER BHEAME
603+3=201 213—133=80 340—260=80
420X 2=840 248+15=263 125-75=200
302X 4=1208 810+40=21 810—440=370
206X 5=1030 90X 60=5400 40X 25=1000
710—140=570 180X 20=3600 111X8=888
16X 508 @ 900+45=20% /\@ 780=13=60
40855 é‘ ' 1025 4108 A 750+50=15
@o@‘ - 7807 47+35=82
&118\22500 940 51-20=22 4\@
#10—160=50 700%35=20 28 300—8400 . B 11

E VAN IR AN

MK T BHAME
270—6 X (405+15) 68—3X 42060
=108 —47
30X [(46—18)+14] [260— (156+44)] X 24
=60 —1440
54X 674 33X 54 (1381262) X (1866)
—=5400 —12400
720 (80— SO)S?é 4% (15X 6) X 20
20 —=7200 @

X YN TE T N
MK EFTI BERE
148X 25=3700 893—574=319 3097

N

960+-4=240 6080+-80="76 806X 11=6666

1204 X6="7224 408 X24=9792

1092+42=26

N



NREFT]
470—70=400
81+69=150
121-+79=200
150><80—12QGOX q/\
1800-260= ?«00\&*\
450+ 153/30
240--30=8"
840+ 60=14
500+25=20
720-36=20

INAET)
840+60=11
230+180=410
470X 20=9400
350—180=170

125+45=170
Aﬁﬁ

1800\w6’0

% 7Q<‘
59&“160

5@X6OO 30000
470+47=10

NRETT
51449=100
130—70=60
3200+80=140
440+ 11=40
150X5="750
1300X4=5200 %
270-+310= 640, @‘8,
70+380—=4502J
300X 180="5408(1
420—260=160

INKEFTI
60—20X3=0

8

\)&

S R

BiEBR
190X20=3800
600X4=2400
59+34=93
73—38=35
280—190=90
110X6=660
520+13=40
43X200=8600
650+13=50
158+222=380

S R

BEBR
800—430=370
200X 450=90000
5600--80=70
70X 140=9800
110X 60=6600

100—68=32" aﬁ\ %
100@6‘37%@ <
270%130 QQ“v

4800 24“200
120><50 6000

S R

BEER
73—38=35
300X21=6300
47X200=9400
560-+14=40
200—78=122
430+280="710
110—90=20
6000-+-30=200
720—430=290
150X40=6000

SIUE I

BEER
120+60+70="72

—
2/

:

QW
W

B
150X 50=7500
600X 14=8400
900+50=18

6§+215§@

X \\1‘511 ; 3 (A

8Qf980

,491958 107
'640 32=20

41X200=8200
810+27=30

M
600+—20=230
520+40=13
248+152=400
82—59=23
980+-70=14
350X20=7000
460X20=9200
25X 40=1000
600X 13=7800:%
30+280_\'ﬂéga‘

<

e
5600-+-14=400
570—340=230
6400-+-80=80
40X160=6400
640+-40=16
380X 20=7600
210—170=40
8000-+-80=100

23X 3006 m@
8 1270
430 %éﬁowx-
4>

CEHaH
40--2X9=180

&

\0 \;‘I



o

N

60+—-20+—3=1
60X20+=3=400
60-+—3X20=400
404+20X6=160
40+20+60=120
40-+-20X60=120
40*20+60?§5;’ /\@
40+2 —6<X>
|

T
<

UNEC D)
24 X300="7200
5600=+40=140
130+250=380
47+53=100
61—47=14
14 X600=28400
200X 34=6800
330+33=10
4800+40=120

320 X‘\%,%‘Oﬁ\

¢S
N

320X65=20800
112X 32=23584

MRAT)
(239+453)—(253—161)
=600

42X 51449 %42
—=4200 ‘\®
24X [(560+70)F, y

=672

220—70X3=10
200+4—30=20
40+9X4=76
60+5+50=62
50--5+60="70
5X50—60=190
3X90+230=500
30—50+2=5
30+5X2=12

S RN

BEBE
870-+30=29
120X200=24000
320—240=80
20X350=7000
120—70=50
60 X80=4800
14+600=614
150+340=490

420—160=260
a8

102X 77=7854

40X 2X9=1720
72—5X6=42
72+6X5=60
72--6+5=17
72+6—5=7
80+40X4=240

150X 40=6000
20X300=6000
460-+23=20
94-+47=2
72+36=2
48-+-24=2
72—38=34
55+35=90
23X40=920
41X20=820

Baam s O

432+568=§lb\0

1342—678=664 140558
4032-80=750++++-- 32 2580+
S| R
BHOE

32X 25X125

=100000

72240+ (40X 3)]

=36

199X 41

=8159 @

560 (306—298) X 7] Z

o \\\”q/’\,

=10 *

N



St R

NRETT BEBRR
4.3 3.5 4
+2.35 — 146
6. 65 ,\@ 2.0 8
» - 12.4 6
+ & + 845
1% 20.9 1
Q
1.4 8.33
—0.78 —6.23
0.62 2.10
S R
NREFTT BERR BHFUE
0.6 2.7 2 7.3
—6.56
0.7 4
9. 5
—6.27
323

S A=
INKET] BEBRR
1.240.2=1.4 0.6—0.3=0.3 4.4+43.3=7.7
4.5—2.3=2.2 0.7+0.14=0. 84 4.4—3.3=1.1
2.2—1.1=1.1 0.89—0. 67=0. 22 2.134+0.07=2. 2
2.14+3=5.1 4.12+5.1=9. 22 1.940.1=2
0.140.5=0.6 2.7—1.6=1.1 0.87—0.5=0. 37
& 0.2140.3=0.51 W% @275 0.65=2.1 3.7+1.2=4.9
.\.ﬁ\ . . 3=0. &\\\ q \&“ . . 2=4.
+ 3.1—2. 1= @ et 12.1—8=4.1 2.9—1.8=1.1
0.5+0.5=1"> 0.740.21=0. 91 0. 16-+0. 02=0. 1@‘
T
0.4+0.6=1_~ 5-40.6=5. 6 3.8@\2@,;2
0.8—0.6=0.2 4—0.8=3.2 65— e
\>?,
S REI
-
NRAETT BEER VEmam
0.14+0.01=0. 11 2.19+0.01=2. 2 19.3—4.2=15.1

N



.5+43.2=5.7
4—0.2=0.2
1+3=10.1

2—0.7=0.5
.5+4+3.1=8.6

.3—1.09=2.21
Dz

.28—3.18=1. 1
. 0440, 04
.27+w3§

W O W U= N O N

INKET]
9—(1.7MH=1.2
L014+(1.19)=2. 2
L5—(1.3)=3.2
.02+ (1.08)=2.1
3—(2.8)=1.5
9—(0.4)=0.5

. 87—(0.3)=0.57
L9+(0.9=4.8

L1+ 6)=6.1 @
.25+(0.€/)‘1&. 5
= @’8’
7 4
SN T
1. 58+15.84=17. 42
24.19—18.49=5.7
16. 74—13. 85=2. 89

NRET
2.58+17. 43=20. 01
22.34—17.45=4. 89

2.01—1.56=0. 45
X\
g’
MK T y@‘&
8= 3.274.6
2-+4.8=7
4—3.6=0.8
L 5+1.7=2.2
33+1.6=1.93
. 24+4-3.01=3. 25

2.45—2.25=0.2
1.6+2.5=4.1
12.4+0.2=12.6
1.2+4.21=5.41
18.6—8.5=10. 1
1.91—0.81=1.1
0.33+1.67=2
23.6—12.6=11
0.87—0.35=0.52

S RN
BEEE
12.4— (4. =38

4.340.9)=5.2
1. 1+(1.05)=2.15
0.04+(7.4)=7. 44
14.2— (7. H="7.1
0.084(0.12)=0. 2
3.5— (2. D=1.4

1.09—(0.02)=1.07

6.6+3.3=9.9
2.8+1.5=4.3
11.5—8=3.5
4.31—2.01=2.3
0.4+0.5=0.9
0.6—0.3=0.3
7.7+2.3

; o
FogaTI=o. 1
@@%;4:6. 8

HFE
0.3+(0. H)=0.7
0. 2+(0. 03)=0. 23
17.6—(12.5)=5.1

8—(4.2)=0.6

.23+(1.07)=2.3
3.244(1.76)=5

L0140, 99) =4
2—(2.7)=2.5

0.034(5.3)=5.33 @
1. 97— (0. 13):w{17\

S

4
1
3
0.26—(0.14)=0.12
3
5
2

L4+(1.2)=3.6

BEERR B /§§
46. 26—37. 18=9. 08 2.03+18.98= %’ﬁ’
11. 399, 73=21. 12 3. 824’-7;/39
2.2—1.38=0. 82 11. 349, 57=8. 77
S REH

BEBR BHFOE

6.24—3.57=2.67
2.4—1.56=0. 84
4. 6+15.56=20. 16

i L Y

BEER
4—1.3=4.1
5—l.4=2.1
7—1.6=1.1
.16+0.43=0. 59
34—0.22=0. 12
S4+0.6=1

oo o mwy

1. 65+2. 76=4. 41
3.86+7.46=11. 32
13.3—6.46=6. 84

RN
3.4—0; 9:2.4’\@

2.5+Q% 8
vl S|

2,542, 4=4.9

3.3—1.8=1.5
1.6—0.9=0.7



(@7‘) 2.1=1.6
(2.02)40.08=2.1
0.9)+3.9=4.8
(1.06)+0.14=1.2
(2.45)—0.05=2.4

(1. 11)4@1 09=2.2
(O.8)+0 4=1.2
(1.7)—0.3=1.4
(4.7)—1.5=3.2
(2.02)+1.18=3.2

0. 7)40.3=1 (0.5D-+12.3=12. 81
S R
INRET] BEBER

0.53+0.7=1.23 @ 5.2—2.5=2.7
124—1.04=0.2 % 706.54+3.5=10
0.26+0. 0120, 5" B *$e Y 1-0.45=0.55
0.15+1. 555 1)7@ o 3.8—1.9=1.9
5.6—2.4=3, 24" 2.6-+1.7=4.3
1.89—1.78=0. 11 0.86—0. 06=0. 8
1.2—0.4=0.8 2.5+3.4=59
6.5—6.3=0.2 1.18—1.06=0. 12

0. 68—0. 57=0. 11 2.37—1.24=1.13
4—3.5=0.5 3.3—2.2=1.1

0.9+0.1=1 2.4—1.2=1.2 3.2—1.7=1.5
5.9+1.11=7.01 0.01+3.29=3.3 5.5+4.5=10
3.5+1.5=5 1.52—0.42=1.1 2.5+1.8=4.3
4.5—3.7=0.8 5.7—2.9=2.8 5.4—4.5=0,9
S R

ANREFT] 120 BEBR BHY
1. 6+1’Z,:% et 7.5—2.5=5 \\é’%la gl 3.1
0. 45 0 ;51 8.4—17.6=0.8 s 2080, 92
0. 01+0:g=0. 91 1.28—0.28=1 2) 2@‘7+o 92=2. 99
0.6—0.06=0. 54 2.8+7=9.8 :cx**“'& 02—1.01=2.01
4.2—3.8=0.4 5—1.7=3.3 1.54+7.5=9
1.0240.08=1.1 1.87—0.56=1. 31 1.8—3.8=1
3.1-2.7=0.4 12.4+3.6=16 1.9—0.9=1
0. 06—0. 03=0. 03 7.4—14.6=2.8 0.73+1.27=2
2.08—1.03=1. 05 3.7—2.8=0.9 4.2+1.8=6
2.9+2.1=5 0. 0440, 08=0. 12 5.4+1.6=7

Bl R

INRET] BEBRR BH4E
(1.6)+2.1=3 7@ (0.5)40.3=0. 8 (7.8)—3.7=4.1
4. 137, (1.66)—0 X\ﬁé’“&ﬁ ) (0. D40, 01=0, 11
% o3*01 <1>¢ (1.01)+1.06=2. 07
m +aﬁ> 41 2.56)# 471

(0.6)—0. 03=0. 57
(7.3 4=4:8 /\@

(2. 66)— 256 3‘
(0. 6)F1; 3@5

o)
(z.e)ﬂ-zﬂg%
0. 20" 5=0. 5
(3.2)43.2=6.4

BFAME
8.6—6.8=1.8
340.3=3.3
2.3—1.9=0. 4
2.6+1.5=4.1
0. 6814 32:{\@

3(21 3 Z\

*11@ ﬂvm
‘43,5 .5

3 4+2 01=5.41
5.6—3.5=2.1

2\ “I



St—M RN

Nk A7) BEER BN
3.78-+6. 78=10. 56 7.25—5.47=1.78 12.01—3.82=8. 19
2. 44+8.56=11 17. 3244. 69=22. 01 31,23—17.45=13.78
6.13—2. 74=3. 39 @ 14. 9246, 28=21. 2 2.18+9. 84=12. 02

A&a b RN N
/wacﬁlw@ BEER ~ P
2. 36+5.86:28. 22 17. 8342, 38=20. 21 2 ) s 3a2.55=3.79
17.27—9. 48=17.79 11. 41— 10, 49=0. 92 =15, 6445, 56=21. 2
17. 36412, 65=30. 01 14.13—7.36=6. 77 9.88+11.22=21. 1
St—Hi REIn
INEHT] BERE BFAE
2.35+3.46—1.78 0.31+2.34—2.54 4.36—1.32—1.3
=4.03 =0.11 =1.74
7.63—5. 3140, 56 1.2142.34+1.35 4.38—2.2740.12
=2.88 =4.9 =2.23
0.39+1. 4642, 46 9.48—6.53—2.13 3.67—2.34-+1. 26
=1.31 & =0.82 & =2.59
aﬁ\ #5408 /\_

-

’;,/@%J FERD BEIH
=3 035 32 4\@
X 4 X 2 X0.12 gﬁ« ’

5.2 0.70 3. B
°)
4.2 2 3 675
X ) X 0.8 X 0.4
21. 0 18. 4 26. 0
0.1 4 3.3 12
X 8 X 6 X 4.5
L12 @ 19.8 54.0
N T) @’& BEER B
0.16 e 5. 2 15 ©
X ) X 6 4’\
0.80 31. 2 - @
2.8 0.2 4 ; s
X 3 X 6 2 8
8. 4 144 36. 0

— 22



7.4 126 28
3 X 4 X 1.03
22.2 5.04 28.8 4
ST R
BEBR E#éﬂ%
2X0.8=1.6 X108
_ \\‘Qj} 1
50, 8=1 i
0.7X4=2.8 7@1 . 5=500
6X0.4=2. 4 s (@ ixs5=10.5
0.6X8=14.8 0.4X8=3.2
. 7X100=70 0.03X4=0, 12 1.6X2=3.2
L9X2=1.8 1.2X6=7.2 2.4X3=17.2
L 1X5=0.5 1.5X4=6 0.06X5=0. 3
1X9=0.9 0. 04X 6=0. 24 1.5X4=6
. 8X1=0.8 20, 02=0. 04 10X0. 05=0. 5
S R
NEHFTI BERE BHOKE
. 09X 4=0, 36 4.54X10=45.4 1. 002X 1000=1002
/\@ @ 0.06X3=0.18
\- 1.7X2=3.4
0.19100=19

1000, 34=34 1. 5M0—19.4
1000 1. 009=1009 2.1X4=8, 4
1.2X3=3.6 5%0. 8=4
0.14X2=0. 28 10X0. 14=1. 4 ;
1.8X4=7.2 6X1.6=9.6 6x0.2=1.2
S8 REH

NRET BEBR BHLAME
1.3X(2)=2.6 100X (0. 026)=2. 6 2.15X (100) =215
0. 42X (10)=4. 2 8. 78X (100) =878 0. 167X (1000) =167
9. 04 (10)=90.% 0. 64X (10)=6. 4 0. 9% (10)=9
0. 189><<10)§8 0. 06 (100)=6 0.4X(2)=0.8
0. 11X (2)=0, 0.22X(2)=0. 44 3X 0.9 =14
0.2X (=1 10 (0. 64)=6. 4 0.24% »
0.06X(5)=0. 3 100X (0. 125)=12. 5 ? <1y
0.17X(10)=1.7 1.3X(3)=3.9 0,67 2.4
0. 56 (100)=>56 0.5X (H)=2 4% (0. 07)=0. 28
10X (0. 234) =2. 34 0.8X(2)=1.6 0. 6 (100) =60



INAHT)
0.42X4=1. 68
60.505=3. 03
0. 46X 7=3.22

<2
/J\ﬁ.tflaﬂ@s

2.47X 12—29. 64
3. 28 X17=55.76
8.9X14=124.6

MNRET]

INKEFTI 6&
@‘&

NMRAT]
5 0.5
123.5 12. 35

45.34 |+—10=| 4.534

300 30

200 20

60 O;?:‘éa”
200 — 2z
0.18 +100l; 0.0018
2. 69 0. 0269
31.45 0.3145

24 —

4%

S RN

BEBR
2.16X3=6.48
2.47X13=32. 11
5.42X8=27. 36
S RIA

BEEE

0.126X15=1. 89
32X4.21=134.72
0.36X24=8. 64

i L I B
BERRE
0.5
9.5
6.5
L Y
OT?&ﬁJ‘ ‘8,@ @
~)e
§?§‘1‘355J3ﬂ A
BHLAKE
3.8
1340
87 |+1000=
12.6
560
42
1200
2.8 |+10000=
310
924

HIFaM
11.05X8=88. 4
1. 65X5=8. 25
0.58X6=3. 48

X

~ @ Tk
1,08 X45=48. 6

1. 116 X15=16. 74
6.54X12=78. 48

BFaf

0.

00028

0,031 f&q

€,

60243




St R

NRET] BEER B
12+3=4 12+7=6 217+100=2. 17
1.2+3=0.4 1.2+7=0.6 13.4-100=0. 134
24+8=3 @ 0.42-7=0. 06 2.4+2=1.2
2.4+8=0.3 41\ 18+2=9 1.6+-8=

0. 24-28=0 K% 1.8%2=0.9 &7 10000, 8176
s-1dp) 1.8+20=0. 09 - @@f:—mo:& 21
5

0. 8+4=0x2 0.18+2=0. 09 o) Csra=1.4
0. 08+4=0. 02 3.14°-10=0. 314 <070, 06+3=0. 02
1.5+10=0.15 0.56+10=0. 056 4.9+7=0.7
1.5+100=0. 015 187+100=1. 87 2.1+7=0.3
HH= BB
NRET BERR B
2.4+8=0.3 0.15X6=0.9 3.6%6=0.6
2.13+10=0. 213 0. 76 X 100=76 0.12+2=0. 06
0.3X2=0.6 8.4+3=2.8 0. 04X 100=4
0.45X10=4. 5 45--100=0. 45 87--100=0. 87
4.5+9=0.5 @ 3.2+8=0.4 @ 0. 81+9=0. 09
0. 15550, 05 6--1000=0. 096 , < 0. 03X 1000=30
) 7 _
1326 56 0. 36 X 1000 43--1000=0. 043
A0 0. 5320, 3.3+6=0.55
2271072 2 0. M=y =002 0.2-5=0. 04 L)
28+7=0.4 1. 8+100=0. 018 0. 4+-8=0, 05 qfl\
A RN 9>
~
NRAET BERR B
1. 46=2.4 21.7+7=3.1 3.69+9=0. 41
19.216=1.2 4.1423=0.18 23.817=1.4
6. 24--48=0. 13 28.5-19=1.5 2.52+2.1=1.2
S=M RA
AN A7) ¢ BEER BN
0.56+2=0. 28 ﬁﬁ\ 2.38+17=0. 14 5.15+5=1.03
3.38+26=0,13 37.4-31=1.1 0. 564-47=0. 012
2.88+16=0718 2 7.93+61=0.13 10. 75--43=0. 25
S R aﬁ\
ik 7] BEER — @%ﬁ
0.2 4 5.2 4 3.5 4
X 0.5 X 0.6 X' 024
0.12 3.12 0.8496



O = O O O O N

»—l_[\')OpNHOOé'

1540, 2=0. 002
L 4X0.5=0.2
. 140, 2=0, 028
.2X0.6=0.72
. 1X0.1=0, 21
42X0, 2=0, 084
180, 1=0, 018
40, 4=0. 96
.6X0.5=0.8

‘&qél\@ix\
INK T

.10, 1>71 O
.03><<o.3.>;3§/@91

L 24X (3)=0.72

. 5X (0. 7)=0. 35
. 2X(0. 3)=0.06
. 25X(0.2)=0.25
.8X(0.9)=0.72

26 —

¢
et

1><O\“.X89:O. 089
2X0.9=0.18
.15=0. 075
6X0.6=0.96
5X0.2=0.9
L2X4,7=0. 94
5X0.2=0.7
10X0. 04=0. 4

Lo OoQLLe oM
ol
X
o

S R

BEBR
2.3%(0.3)=0. 69
0.3X(0. 14)=0. 042
0. 47X (100) =47
1.9 (0. 3)=0.57
12X (4)=4.8
3.2X(0.01)=0. 032
20 (0. 03)=0. 6

2.5

1.50

BHAE
LAX4=9.6

.98 X100=58 2 a’/’\@

.5X0. 5%@)%

.41X20=8. 2
.02X3=9.06
L42X2=2.84
.3X0.4=0.12

S~ w o U e O = O N
~
o
%
(2]
N
)

B
0.8X(5)=4

0. o4><,g;10>~o\z@‘
(AN

f‘zx(3)73 6

2.5X(4)=10

N



1.4 (0. 3)=0. 42
0.89X(10)=8.9
1.6X(6)=9.6

MNREFTT
. 2>1.2%0.9
.23, 2%D. 7,8’9’
SXETER
726,
5HEah. 5
L AX3>3.4
L 4+3<3.4
. 4+0.3>3.4
. 4—0.3<3.4
. 5<C3.5+0. 1

A6

Y

w W W w w O =W =

INAEAT)
0.12X3. 420 41
1.17X0. 720. 82
0.9X4.13~3. 72

2®
—~ /@%?

4 59137, 5
553, 6=19. 8
7.5%14. 32107, 3

0.5

7.5

Y

MRAT]
12+7=6
4.2+0.7=6
0.42-0.07=6
36=6=6

0.4 (0. 9)=0. 36 0.25X (4)=1
1. 3X (0. 4)=0. 52 0.125%(8)=1
0.2X (0. 4)=0. 08 1. 25X (8)=10
S RN

BEBR BHFOE
1.5X2>1.5 2. 4<2, 4%
0.2X10>>0. 2 21>
10. 2<<1. 03X 10 1=15
21+10<<21 —~ 26<072<1. 8
1.3X2>1.3 < _\—5<5.4
1.5X0.2<4. 5 6. 2<C10X6. 2
4.50.2>4.5 6.2>6.2-10
4.540.2>4.5 6.2<6.2+10
4.5—0.2<4. 5 7.8>0. 98
7.4>7.4X0. 1 5.7—0.1<5. 8
S RN

BEBR BHFOE
1. 23X 2. 623. 20 0.5X6. 21a3. 11
5.16X 4. 2~21. 67 11. 3X0. 34~3. 84
3.4X0. 1620. 54 @ 0.055X12=0. 66
EERRLIE ST

B €2 BHs
4. 6586, 7230."8 2.9X0. 1220. 3
11. 2X087~17. 8 16. 4X0. 0522078

D~ t'%

0. 4X1.850. 7 1.6><g§$o é»g,
ST R 2.
5.5 0.2
9 0.15
200 10
ST R
16 0.5
0.5 1.6
0.2 0.4
W R N

BEER - L
85+17=5 ’46/ 7=0.'4
0.85+1.7=0.5 0681, 7=0. 4
162, 3=20 1+2=0.5
4,60, 23=20 0.1+2=0.05

P

\>



3.6+0. 6=6 7.5+15=0.5 0.33+3=0. 11
0.36+0.6=0. 6 0.75+1.5=0.5 4,2+0.6=7
55+11=5 14+8=5.5 1 6=4=0.4
5.5+1.1=5 1,4+0.8=5.5 0.65=0.5=1.3
0.55+0. 11=5 270, 9=30 2.8+7=0. 4
1.240.2=6 0.27-0.9=0. 3 7.5+15=0.5

qf\© A Y /\@

duﬁn@'& BIEBR Aife
1. 60116 0. 45<C0. 450, 9 - 271<0.21+0.1
3.4+172<78. 4 0.7>0.7+1.4 < D210, 21%0.1
12.3>12.3+3.2 0. 04>>0. 04--100 8.6-0.2>>8. 6
12.3<C12. 3X3. 2 0. 04<20. 04100 1. 6+4.3<4.6
12.3<C12. 3+3. 2 1, 6<4. 6+0. 45 2.6+1.2<02. 60, 2
12.3>12.3—3.2 2.7<2.7X10 0.130.12>0.13+1. 2
2.5+0.1>2.5 0.23>0.23+2.3 6.5X10>>6.5%0. 1
2.5%X0.1<2. 5 0.23<0. 23X 2.3 7.5+0.01>>7. 5X0. 01
2.5—0.1<2. 5 4, 7>4.7X0. 24 12.5%0.1<<12. 50, 1
2.5+0.1>2.5 0.56>0.56+1.2 0. 88=1. 3<C0. 88+0. 13

SHE RWH

MNRET BiEBR BHLME
1.6+2= 08/\© 0.24+1.2=0.2 /\@ 22+1.1=20
4,98 O’é& 0. 750,16 éﬁ, 2.2+11=0. 2

-3 300 0.220.11=2
2 7. 2 a( 0.22+10=0. 022
0.81fo.9:0.9 0. 455220, 09 1.55%0.5=3. 1 4,\@
140, 2=70 89--0. 01=8900 0. 1550, 05= \2 7
3.60.2=18 2.78+10=0. 278 0.155=5=
0.4+0.5=0. 8 12,40, 4=31 1. 55 =60=0 081
0.2+0.4=0.5 0. 146-+10=0. 0146 15. 5+0.05=310
2.7+0.9=3 0. 1460, 1=1. 46 155+100=1. 55

S RS
IMKEFTI BEBR BHFOE
8.6+0.5=17.2 0.18+0.12=1.5 3.12+2.4=1. 3
1.12+0.7=1.6 /\© 7.5+0. 15=50 26,41, 1=24
1. 240, 31=1 ‘&qfl 0.126-+4.2=0. 03 1.62+0.2=8. 1
~re SHTE SRIIA
NRET) BEEBR Bo4E /\@
0.189-0. 03=6. 3 2.48+0.8=3. 1 0276 %
1. 4450, 72=2 0. 2046, 8=0. 03 3:27.@ 06160
9.61+0.31=31 0. 3430, 49=0. 7 5. 497019=6. 1



MNRET]

. 42-+0.2=2.1
. 52X10=5.2
.6-+0.3=12

5+1.5=3

31><0§:o. 093

.96+0.8=1.2

20--100=0. 2

1.

.

OOU1.[\'>OOOO

92-+3=0. 64

NRET

. 4X40=16

. 03X100=3
.5+0.5=1

. 31X0.2=0.062

6+1.3=2
6-+-8=0.7

. 68+3% 4_ @
.42—%
0,45

fgz&sxzo 5

S N = w

G O R NO S

MNREFT]

. 2—1.2+3=0.8

5+5X2=2.6

.3—2.340.2=2.2
. 4X4—1.2=0.4
.8+340.4=3

4-+1.1+5=0.8

.9+0.3X0.4=1.2

4—3.7—2.4=0.3

L7—1.642.3=3.4
.5+5—0. =1
J,

>

INEHT]

L7—3.2+2.3=2.8
.2+0.6X0.4=0.8

2-+(1.6+0.8)=3

L 25X (4+8)=3

X\

.7><O 1=0. Z%’q

\>
/\
,8}?/

1 AV I8

BEBR
4.4+4=1.1
4.4--0.11=40
0.05X20=1
0.72+2.4=0.3
0.7270.09=8
40X0.02=0. 8
0.04X0.4=0.016

0.16X5=0. 8 t

3.2X0.3=0.96
3.96+3=1.32

13 AV 718

BEER
1.5X10=15
0.125X8=1
0.25X4=1
4--8=0.5
1.6+2=0.8
0.5+0.2=2.5

0. 26 X100=26 Z @
YY)

0. 026+ 13508

7. 8558,

0.152¢20=3
BT R

BEBE
2.145.6+4=3.5
0.5X0.4—0.2=0
7.8X0+9.7=0
4--5X0.2=0. 16
0.9—0.4+0.1=0.6
6.7—3.8—2.7=0.2

5.1+1.7+6=0.5
0.42-0.06X0.4=2.8
1. 6+-8X0.4=0.08
2.5X0.4-+4=0. 25

S N R

BEBR
0.2X0.5X0.7=0. 07
0.5X0.1-0.01=5
101X (6+4)=10.1
2.8+2+0.1=14

1000, 14=14
0.32X20=6. 4
17--100=0. 17

2=4=0.5
o
1%XOAII

18 2=0.9
4.9+7=0.7
21+30=0.7

BFAN
. 2X0.02=0. 004
4X0.5=0.2
6+8=0.075
.51 X10=5.1
.038-+0.01=3.8
079X10=0. 79
4--0.02=320
.64+2=0.32
2+50=0.04

78--1000=0. 078
@‘*{'\@
BFIHO
L 2X00s4=0. 48
2-0.5X0.4=1,6
. 06-+0. 3X0.8=0. 16
.56+0.8X10=7
04X0. 540.1=0. 12
2+4.2--0.7=6.2
9—3.9+3=2.6
LA48+2.4X10=2
45—0.32—0. 08=0. 05
.13X0.1+0.01=1.3

2\

so oo oo

(=}

coowooooo o

g /
-_ >
’}/6 %00--2=0. 1

T AFT+2.4=2.6
3.6+6X0.5=0.3
2.6—1.8+2.4=3.2



0.11X(10+100)=12.1 3.2+1.5—2.2=2.5 0.32+—8X10=0.4
1.4--0.7X0.4=0.8 0.4X (5+20)=10 3.3+-6X100=55
0.12X5-+0,3=2 6.4=+(0.7+2.5)=2 19. 8+0.6X0.3=9.9
2.6+3.5+1.4=7.5 0.44-+0.22X0.2=0.4 21.6+=3+-3=2.4
3.19—4.542.81=1.5 0.49-=+0,07-=+0.1=70 2—8X2=0.5
1.6=+—0.08X0.7=14 @ 4—=8X7=3.5 3+6—0.3=0.2
» N R
Bxam
19. 2+ ( X 9
=2.4
3.01X(2.16+0.6) 2.01— (I
=10. 836 =0. 86
14. 64+ (5.7—2.6) 3.6+[(4.9—3.7) X0.5]
=17.7 =6
2.4><[8.4+(3. 67—3. 07)] 14. 7—4.3X0. 3
=33.6 =13.41
SNE RN
INK T BHaE
4.87+2.4—4,87+1.6 3.4—2.1+2.6—1.9
% 745% 474-0. 46
W a‘:’ \4(70

46X 99+4.6

=460
1.25X4X0. 25X8
=10
St RIIH
NRETT BFOHE
2.35+16.1-+0.7X2 6.6+(2.140.4X3)
=48. 35 =2
13.46—8.34—1. 66 6.5X8.9+1.1X6.5
=3.46 =65
0. 96 (0. 6X0. 4) 0.125X8X4. 2
$ X
*\-‘ 2.58 X101 9.6-+[(6.845.2) X0.4]

=260. 58 5 . : =2

D o Y
MRAT] BERR
0.2+0.13=0.33 0-0.01=0
2.7+3.5=6.2 0.45—0. 25=0. 2
1.4—1.2=0.2 1. 6X0. 2=0. 32
8.1+3=2.7 12.4X0.2=2.48 1. 6--0. 08=20

N



4\

1.4=0.7=2
4.51+3.31=7.82
2.3—1L2=11
14.28—13.18=1.1
0. 04-+0.04=0. 08

0. 040, 04=1
% /\@

*
/J\ﬁulgn*@é’ e
. 25 X251
L0810, 8
35--0.5=0. 7
35--10=0. 035
. 35+—=100=0. 0035
35X 100=35
.8X0. 2=0. 56
. 1X0.05=0. 005
1+10=0. 01
8=0.8=1

INRHT]

A D441 ;‘gﬁ
(219

-.;(04 éIZ;*\@S

ﬂZ X0, 3= 0.72
(4)*2 4=1.6
(1.98)+0.12=2. 1
(3.2)+1.6=4.8
(10)X0. 14=1. 4
(100) X0. 05=
(0.3)+0.3=1

INAAT
0. 02X10=0. 2

0.13X0.2=0.026 ,\@

0.45+0.5=0.9 . q,
458=0.5 @@ &
5%0. 02=0, 11
0.07-+100=0, 0007
0.19-+0.01=0, 2
3.37—2.33=1.04
0.3X1.4=0. 42
0.8+0.1=8

1.2+4.21=5. 41
11.6—5.5=6.1
1.96—0.85=1.11
0.334+2.67=3
20.6—11.6=9
1.85—0.35=1.5

L3 e ) 18

BEERE
18.4—15.2=3.2
4--5=0.8
0.3X0.4=0.12
.56+0.4=4.96
.12—0.8=0. 32
.256X0.4=0.1
.2+6=0.2
.18--0.9=0.2
.04X6=0. 24
.4--5=0.88

L i Y B

BiEBR
(0. 24) 0. 3=0. 8/\@
. 44)—0934
(12.&)— xS B
A 6% mﬂ 42
(1. 15>+1 05=2.2
(2.3)+0.8=3.1
(2)—0.6=1.4
(4.9)—1.7=3.2
(1.99)+1. 21=3. 2
(3)=6=0.5

S R

BEBE
1.5X0. 3=0. 45
4X0.8=3.2
5.6+4=1.4
6-+8=0.2
. 23+100=0. 0023
.3X0.4=0.12
.2+0.06=1. 26
1.5—0.4=1.1
1--100=0. 01
11. 3X30=339

= O O = O

—_—_ O O

5.41—2.01=3.4
0.4X0.5=0.2
0.6X0.3=0.18
0.6=0.3=2
0.09--0.01=9
2.442.4=4.8

* 10000, 124=124

2+4=0.5
0.65+5=0.13
4.2X0.2=0. 84
5.6—1.5=4.1
0.06X5=0.3

1. 6=0. 04=40

1. 6X0.05=0.08

BE4E
(0.48)+0.4=1.2
(0.15)+0.01=15
(0.2)X1,06=0. 212
(0.93)—0. 36=0. 57
(0. 4)X0. 3=022 /\@
(1 40— N g
0. T+
(D) X g2 50"

(0. 75y°05=0. 25
(2.2)+4.2=6. 4

40.5+5=8.1
3.2-5=0. 64
3.5+0.2=3.7
570--1000=0. 57

0. 54X 100="54
164 &81%\@4

2(4%3?
o,

{52—14 0.38
10%0. 14=1. 4

\0 k“’



INAET]

. 25X 200=50
25X20=5
25X0=0

. 250, 020
25--200=0 Q +°
0.25% —o.‘oﬂz%
0.25-2=0. 125
25+20=1. 25
0.25+0.2=1.25

INRETT
2.4+16=0. 15
13.8+21.57=35. 37
67.3—34. 27=33.03

INRHT]

z\m‘xz 542.5X13.3
=100
[2.7-+(3.2+2.8)]X40
=18

NRET
6X0.15=0.9
0.12+3=0.04
2.4+8=0.3
8.72+8=1.09 &
10.255=2.04 o\ ;
8-+100=0. 0w,
100 0. 28= 28}’ @
0.09-3=0, 03" \N
0.1440,7=0.2
0.3X0.03=0. 009

. 25%0. 2=0, o;r; /\@

qﬁ\

&1

SbM RN

BEBE
420X30=12600
42X3=126
0.42X0=0
0.42X0.3=0. 126
0.42X0.03=0.0126
420+300=1.4
42+-30=1.4
4.2+3=1.4
4.2-0.3=14
0.42-0.03=14

S RN

BERR
2.584-76=0. 034
46.7X14. 6=681. 82
1. 702--37=0. 046

L s i U [

BHOKE
0.4X10=4
0. 04X100=4
5--1000=0. 005
2 l+1 9=
&\\\ ﬁé O‘%Z
P~ _@\)03 80

% @\“06><50 3
O 5xa=6
10-0. 05=200

HIFAM
1. 024X0.5=0. 512
90-+80=1.125
2.8X3.7=10. 36

FLIHE
u.(\ 00--5) 0. 08
\\\ QL“
@’8' ;8%><(8+o 8-+0.08)
=1110
N"‘ 21, 540, 25X 5. 6 X4 % 4\@
N W 1270
=27.1 ® S
16.80.4—2.6X5 == +°
~ w@@“
=29 ~
OV
B R
BEERE BHFOE
50X0. 04=2 34, 5-100=0. 345
1. 4+4=0. 35 0. 145X 1000=145

1. 24+0.45=1. 69
5.67—3.54=2.13

¢ <©0.16+2=0.08

14.4=-10=1. 44
14. 4X10=144
11. 4X4=45. 6
1. 03X3=3.09
3.9+13=0.3

2.4--0.12=20
16+-2=38
25.2+2=12.6
0.56+1.4=0.4

7.8-0.26=30
59+ 1000, @

2@5\6,& =
ek

o

\
4V
W\

2\ “I



NRETT
L4-0,1>>3.4%0. 1
LIX1=2.1+1
. 80, 62>0.8—0. 6

- L 2R
.7.0.1>6.\\i.1@1 Zoo

L

6 A e
14. 5><o.1< 5&“0 1
3,50, 1;««3 5
4.2X1.5>4.2+1.5
6.2—4.3<6.2+4. 3
2.6-40.1>>2.6—0. 1

g > O N w

NRETT
1. 2X80=96
0. 12X800=96
12+8=1.5
1. 2+80=0.015
100+-1000=0. 1

4+ 5\?;@ 8?/\;;
§9

%?\16\4 0.93

o 3><0 02=0. 006
o 03X20=0. 6

MNREFTI
0.4X0.5=0. 2
0.45+0.9=0.5
9+6=1.5
6=4=1.5
12.2X0.2=2. 44

1 AV 78

BFOE
2.1—0.2<C2.1+0. 2
1141, 2<<11. 4 X 1. 2

3.3X0.5>3,3X0.1

0.8X1.2>>0.8X0. 3 @

5. 6—2. 4<5. 6\\\@? {l\ g\
. R N

0.26—+ o.g:<2 ﬂoe

3. 5X0. 1@

0. 71<20. 71><2 3

12. 4=+ 2<12. 4X2
0.84>0.84=1.5

SHANE RE=

26%0.03=0.78 % o693 0 3. 642.7=6.3

\
0.1140.0920. 7 A %22

6.5+5=1.82) 0

~l a
18X0.5=9 o
9+0.5=18

INKEFTI
1.4X10=14

BERR B
4.88+8=0. 61 3+6=0.5
7.2+9=0.8 2.9-1.8=1.1
2.64—1.42=1.22 0. 6X150=90
2.3+5.3=7.6 0. 74X100="74
1. 8X0. 4=0. 72 @ 11.2+8=1.4
0. 22><401\8 @/’\ 96--80=1.2
o.za,@of %G 7.256=1.2
o.25>y«o w 80+100=0. 8
0. 46 ;@“o 046 150+100=1. 5% /\@
0. 46X 100=46 307100—@é8’a‘

o=
LR WAL et v L oz

BEER BT
4.68—3.27=1.41 4.82—3.51=1.31
13.5+0.5=14 0.267+0.1=2. 67
9.03+3=3.01 8.2+0.4=20.5
3.75+2.15=5.9 5.4+3=1.8
9.6+3=3.2 78--60=1.3

3.6+2.5=6.1
1.320.1=0. 132 9.9-40.1=10
0.77X10=7.7 0. 6X0.8=0. 48
1.2-0.06=20 3.3><0,%2:04g©
0.42X2=0. 84

1R AV 718 F )

o_&%\\qgg's : A
- @ v®

- a
BEBF VBB
0.125X8=1 3.8+2.2=6

2\ “I



0.5X1.1=0.55

0.81+0.9=0.9
0.093-+0.03=3.1
1+5=0.2

0.4X0.7=0. 28
0. 05X0. 8=0. 04

7.8%0.06= 1@0"9’/\

MNREFTI
24.5%2.6=63.7
36.06=-0. 6=060. 1
26. 880, 42=64

MK T
25. 67— (13.5+8.67)
=3.5

78046, 5/\@

% -~
=3 O\\\ 7

G G
e

2 8945, 67—0. 89
—7 67

MNREFTI
0. 240, 3=0. 072
7.5X4=30
0.25X4=1
3.15+0.5=6. 3
7.8+0.6=13

20.8-+0.4=52 \ 4.5X0.2=0.9
) <\
qu

2,17+ 07&@8’

4. 2x5=2117"
7.5+3.4=10, 9@\
1.9%0.5=0. 95

INKEFTI
6.5+5=1.3

2.5X0.4=1 1.47—0.27=1.2
7,23, 6=2 3.842.4=6.2
0. 84+14=0. 06 0.9—0.4=0.5
0.03X12=0. 36 8. 2X0. 01=0, 082
31X0. 02=0. 62 1.8X0.4=0.72
1.250.5=2.5 10+4=2.5
1+0.01=100 0. 20, 8=\25
1+100=0. 01 \\\éi: 3¢ 1\ng
0. 4X100=140 - @4:@@:*0. 11

Y ) TN
S BN = O
\N\‘

BEBR BEHOKE
33.7—14.57=19.13 8.73—4.52=4. 21
2.8X10.4=29, 12 0.325+1.3=0. 25
0. 18X 4, 2=0. 756 3200, 07=22. 4
1R AN 8 6

BIFAME
0.291+97
=0.003
. <46.@31. 6)+(0.52+0.2)
W g
~ ©’8,\>6‘)6L(1 320, 6)+5. 8
‘L‘\ =8.8
‘ N 6. 8+[(5.47—2.07) X0.5] \\
=1
— 28
LR R g'@

BRER R
3.56—2.34=1.22 0.14X100=14
0. 6--0. 03=20 0.2140. 09=0. 3
0.33X0. 3=0. 099 0.32+0,04=38
1+0.01=100 6. 40, 08=80

@ 13.4—8.9=4.5 0.12X400=148
9.9+33=0.3
2.440.13=2.53 3.8+1.9=2
4.2+0.3=14 0.4+8=0. 05 @
200, 01=0, 2 0. 11k 1—azly <

. _ \\i ~
12.6--0. 3=42 49— \%
- @ s

. ] ot
i e )20
BEER (5
1.25X2=2.5 4,97+=7=0.71

2\ "I



0. 279=0. 03 7.2+0.72=10 0. 4X0. 05=0. 02
0.18X4=0. 72 0.09X90=8. 1 8.8+1.2=10
0. 60, 7=0, 42 14.67—7.5=7.17 0.57+0.3=1.9
0.08X15=1.2 2.6X0.2=0,52 2,840, 07=40
0. 796 X 100=79. 6 3.452=1.7 4.8X0. 2=0. 96
150+200=0.75, /\@ ) 1.7X4=6.8 0.31X3=0. 93
36-60=0, 6\\\ @ 0.16X40=6. 4 10. 080, g@3100. 8
% 1.8X5=9 \\6%0 /Aﬁgsz
6+8= ojs 1“ 7+0.35=20 T03=3.3
o 1 B

NREFTI BEEBRE BFAHE
0. 7 (0. 9)=0. 63 3.8%(0.2)=0. 76 0.3+(0.4)=0.7
3.8+ (0. 02)=190 4.2X(0.5)=2.1 2.15X (0. 2)=0. 43
4,60, 02)=230 1 14(3.5)=4.6 1.3X (0. 4)=0. 52
1.024(2.18)=3. 2 3-(0.5)=F6 4.8—(4.2)=0.6
4.3—(L.8)=2.5 4+(8)=0.5 121+ (1. 09)=2.3
0.27+(0.9)=0. 3 0.08+(1.37)=1.45 2.6+ (13)=0.2
6. 06 (0. 6)=10. 1 1.5%(0.2)=0.3 1.6—(0.9)=0.7
3.9+ (2.5)=6.4 4.3—(2.25)=2.05 50+ (2.5)=20
0.1+(7.2)=7. ? 154(20)—0 .75 /\@ 5.4—(2.8)=2.6
0. 12\§x®%#+\‘ = (. 1@@ IO 0.6 (0. 8)=0. 75
=9 %@@%Mm

CNRET) BHM ¥ g\@Q
o.6——»><020.12——>+0'20.32 2.8 n0.4 e ® x S

- Ao 2

0.8 0y 05,5 05500, 1 209y 28 Fan

6+ s3 =g S
72—>12—>6 180 —>160 —>20

-+0.23 -4 X8 -2

0.46 ——">2—>0.5 0.4—>3.2-—=>1.6

=+0.12 —4
0.36 ———>3—>0.75

X2 =4
2.8—>5. 6—>1 4
—0.15
0.0 3%0 27*%

- \ s
6. 6ﬁ»23$» *o‘é*
x1.2 ()50 W
0. 8 ——"">0.96—r0. 32
%003~ w6
0.12

0.2

INAET] BERR
7.12+-0.1=71.2 0.85+5=0. 17

Sl mmn )2

-3 —0.04
0.45—>0.15——>0. 11

0.9 -3
8.1——>9—>3

X200 =4
0.08 ——>16 —>4

X0.6 0.6
1l.4—0.84 —>1.4

N



34. 5+100=0. 345 0.46-2.3=0. 2 1+25=0. 04
85%0.02=1.7 1.25+0.5=2.5 L21+1.1=1.1
150X0. 003=0. 45 7.2+0.4=18 4.8+1.2=4
0. 230, 4=0. 092 4.50.6=7.5 3.46—2.34=1.12
2.86+0.2=14. 3 0. 160, 4=0. 064 8.1—0.6=7.5
0.58%0.2=2.9 1. 35—0.5=0. 85 2.8+0.2=14
0. 50, 8=0,4 41\@; 6.7+2.3=9 L 50, 7505
0.36:0,12 &,S;;é*\‘ 7.80.03=260 \\6’?0%/;30
0. 28%0))}"/# 1 0.160.5=0.08 ‘&83«?4

R 2
INKET] BiEBR BH4aE
4.5X7.18=32. 31 0. 056X 1200=67. 2 1. 05X 7. 6=17. 98
11.36=7.1=1.6 8.84+1.6=5. 525 50. 02--0. 61=82
1. 645X 26=42. 77 1.054=-3.1=0. 34 12. 880, 46=28
S REH
NRET BHamE
(15.6—8. 9) X0. 25 99201
=1.675 =19899
47. 8—(23 61 (3. 4N8. 6) = (6.5—2.5)
76 4S\ ? ’@;\ \\\Pw /ﬁ\d?
®
® 1\)6* - @‘8, IgezHo 27-0.3X0. 4

jl N““ 2) T 12,76

p \Q@¥(14.5+7.5>+11 jw 6.4X7.5+7.5X13.6 % 4,\@
=2.7 ' =150 oS e L

’ @ et
— >
O Y “
INKET] BEER
0.480. 24=2 5-25=0. 2
2.75—1.36=1. 39 2.07+0.9=2.3 0. 16X 100=16
0.42X0.5=0. 21 4.6X0.2=0.92 250, 2=125
1.7—0.9=0.8 1. 7X0. 4=0. 68 0.42+0.18=0. 6
0. 8X0. 12=0. 096 @ 18.4—12. 3=6. 1 750+50=15
1+4=0. 25 \x\ Q« 703.75+0.5=17.5 2.01—1.01=1
6--8=0. 75 ‘8, e*\ 7.8%3.9=2 0.66+0.11=6
1+25=0. 04 j@ oS 2.2X0.5=1.1 5.4+2.37="7.77
0. 462, 34=27 &N 10.8+0.9=12
7520, 5=150 3.3%0. 3=0. 99
S R (
ik 7] BERER 4 \“‘Ezﬁmﬁ
0.560.08=7 1. 6X0. 6=0. 96 62. 440, 8=78

36 —

N



4.8-+0.6=8
5.556+0.5=11.1

10X0, 12=1. 2
0.33—0.03=0. 3
0.38+1.9=0.2
2.4X3=7.2 2
0.18X0. 5=0000 ot 4
WA SAe

0. 6140,6 %@ 25
7. 5B 08 0T "

~

INKET]
3—1.6+4=1.9
.8+6X3=3.9

. 4—3,3+0.6=2.7
L 8X5—2.6=1.4

L 4340.9=2.7
L7T+1.1+55=1.4
10. 5-0. 30, 3=10. 5
8.5—5.4—2.6=0.5

3.5 1 646.1
22
8. 549> 0
ey @S

NRET

300 ZFH= (0. HFt

10 77 T = (1000) 23 kit
10 JEXK = (100) 2K

4 = (4000) T-7%

700 T35 = (0. 7)

60 ZA= (0. 6) 43K

5000 Z£K= (5) %

3 FF=(3000) Z T}

10 /A\tjﬁ:(o&ﬁﬁ%ﬁe @
5f1= (0.57C o B s Q /)

—a%
".@ x*\
7 4 "

™

g
. 5+0.15=30
81-+0.9=0.9
.3+0.5=4.8
56+1.4=0.4
.96=0.04=T74

N O NN

<
O\

0.80.04=20
1—0.28=0.72
0.42+1.4=0.3
0.72+0.3=2.4
1.440.23=1.63
10. 2-0. 2=51
75+2.5=30
1.11-+0.3=3.7
2.48=+0.2=12.4

LG L I

BEER
3.2+10+4=5.7
0.7X0.6—0.2=0.22
14. 8X0+6.9=0
6-+8X0.1=0.075
0.58—0.48-+0.01=0. 11
3.6—2.4—0.7=0.5
14+4-+-5=0.7
0.54--0.09X0.7=4.2
13.6+8X0.2=0. 34

3.6+0.12=30
5.18+2.12=7.3
0.4X0.35=0. 14
2.56—0.4=2.1
0.66+0.3=2.2
20-+-50=0.4

9. 4--0. Qleg840

W

574 @zgko&)
Q@®? X 0,28=0. 075

BEFEANE
L7X12+40.4=8.8
24--0.5+0.8=0.6
.17+0.3+3=1.3
. 64-0.8X0.5=0.4
.15X0.5+0.1=0. 175
.2+11.2--0.7=16. 2
9—4.2+3=2.5
L96+2.4X5=2
.67—0.32—0.08=0. 27

L\

2.5xo_4—:\4’30§4;\ L 16X0.150.01=1.6
L\

%‘j@%ﬂ;ﬁm

BHFOE %
100000 F-75 K= (10) 2 HT & “\\8’9’ ’ﬂ*\-‘“
5E= (50004 A5
2 A H= (0. 02) 7 T e~ +
7 TR = (7000) % =
34K =(0.3)K
3 3= (30000) F-H7 2k
9 JHk = (0. 94k
4000 T35 = (4) i

70 43K =(T) %k

50 43K = (500) ik
(o o Y

BRER BHa, < 63

3%0.6=1.8 @%q?
1.8X0.5=0.9 *1%
3.9—2.8=1.1 x}z 364—2 44=14.8
64+-80=0. 8 0'85+0.5=1.7
17+2=8.5 2. 16-4=0. 54

2\ t"



. 7840.22=5
.5X0.6=0.9
4X2.4=0.96
. 86+1.7=0.5
. 134X10=1. 34

S o o = o

3.07X4.08~12. 53

INRET]
36. 850, 4<0. 25
=368.5
24, 67+12.4—5.67+2.6
=34
18.6X1.01
=18.786
6.58X7. 844, 128. 8

0.42+1.4=0. 3 0.07+0.01=7
2.18—1.57=0. 61 320+-800=0. 4
2.943.5=6.4 1. 86-0. 03=62
0.2+10=0. 02 2.130.03=71
8.2X0.5=4.1 14.5+0. 5=29
B RIS
2%
BEER &\\\” i
€
46. 8732, 94=79. 81 . 3.24
. S A
480+640=0. 75 O, 10883, 4=0. 32
2.212-7.9=0. 28 0. 386, 7=2. 546
S e
BEHOME
(0.85+0.17+4.8)X3.7
—36. 26
12,8+ (8.8—5. 6) X0. 6
=2.4

16. 980, 15X (7. 83—2.17)]






